
KIT PORTATARGA
ZERO MOTORCYCLES - ZERO DS 

ZDS400-18

X1. KIT STAFFE DX/SX
X2. TABELLA PORTANUMERO
X2. ADESIVI OVALI
X2. M5X12
X2. M5X30
X4. RONDELLA LARGA Ø5 
X4. RONDELLA TEFLON Ø5X4. RONDELLA TEFLON Ø5
X4. DADO Ø5

KITISTRUZIONI DI MONTAGGIO

COMPONENTE
ORIGINALE 

DADO
Ø5
 

M5X12
 

M5X30
 

RONDELLA 
LARGA

SPESSORE 
H8

RONDELLA 
TEFLON


